14, The work done on a particle of mass m by a force,

x = =
(K being a of iate di ions), when the
particle is taken from the point (a, 0) to the point (0, a)along
a circular path of radius # about the origin in the ¥ — y plane
is (JEE Adv. 2013)
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Correct option is D)
Given that,
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Now, for the small distance is dr travelled by the particle in the direction
dif = d¥T+ d¥

Now, small work done is
dw = F .dr

The total work done
W= [dw
W = [F .dr
0 vy . kg
%14_-73] .Idxn«tdyj]
5l

2 +y1)2

w-[K

(%2 +y7)

o e A = ¥ .
W =K ! 31| + of 7
(x2+y2)2 (x* +y)2
Now, solve the first term of integration
Put.

Kty =t
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Now, similarly for second term of integration
1

=—Xa2
Now, work done is
il 1
W —Ka2 —Ka2
W =0
Hence, the work done on a particle is 0



